JIOTAPUTAMCKA OYHKIMJA, JEAJHAYWMHE 1 HEJEJHAYWHE

. OxppenuTu BpeIHOCT W3Pa3a

1 1 1
(a) log, 256 - logs 3 log, 1024 - log1 —; (6) 582510 4 16Tos2d — 8110823

o | =

1
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. Perturn jesmnaunne

(o 2= W=D Z0) o (6) 2log, v = log (9 - 22);
In(§ —1)

() (logz)? — logz = 6; (r) log3 4z — logs 12 = 1; (m) log,, (2% +1) = 2.

. Pemutu jegnagune

2
(a) log,(2logs(1 + logy(1 + 3logg z))) = 0,5; (6) 51118 4 5=1H1080252 — €6
. Permutu mejenaumne
2x — 8
(a) log%(x +2)>1; (6) logg4(w + 1) <logy4(2x —6); (B) logy 5 ::_ 5 < 0.

. Perrurn nejeanaunie

log(z? — 1)
(a) log1 logz z > 0;  (0) Tog(1 —2) <1; (8)log,(z+2)>2;
. Perirurn nejeanaunie

(a) logsx —logy® <3;  (6) logy(logy x) + logy(logy x) < 2.

. Pemmmutu cucreme jemHaumHA
(a) log(z? +%2%) =1+logs, (©) log, © +log, y = 2,
log(z +y) —log(x —y) =log2; x+y=2.



